
Model 527 RED
Mining Light Rock Guard Kit Instruction Sheet

Note: If product does not meet 
any regs to use the approval 

logos, REMOVE section 
altogether, and move 

Installation Guidelines up.

You will reuse the following hardware from your Model 527 Lamp:

(x2) M8-1.25 x 24mm hex bolts
(x4) #6-19 x .357” SS Screws
(x2) Ratcheting Plastic Holders

In the Box
A. (x1) Rock guard bracket
B. (x1) Lamp mounting bracket
C. (x1) Rubber dampner
D. (x1) Tie wrap
E. (x2) M10 lock washers
F. (x2) M10 - 1.5 x 40mm 
carriage bolts
G. (x2) M10 - 1.5 Hex nuts

A

B

C

D

E

F

G

J.W. Speaker Corporation • Germantown, WI U.S.A. • www.jwspeaker.com • speaker@jwspeaker.com • 262.251.6660 6543910bRev: 05/23/2016

1. Remove the four #6-19 x .357" screws, two 
M8-1.25x24MM hex bolts, and 2 ratcheting plastic 
holders from the sides of the existing lamp 
mounting bracket for the Model 527 RED light. You 
can dispose of the existing lamp mounting bracket.

2. Install the lamp mounting bracket (B) on the 
Model 527 RED light using the two ratcheting 
plastic holders, four #6-19 x .357" screws and 
two M8-1.25x24MM hex bolts.

PAGE 1 - CONTINUED ON NEXT PAGE

PRE-INSTALLATION INFORMATION

PRODUCT WARRANTY:

If you have issues with a J.W. Speaker 
product, please contact the authorized 
retailer where you purchased it.



Model 527 RED
Mining Light Rock Guard Kit Instruction Sheet

J.W. Speaker Corporation • Germantown, WI U.S.A. • www.jwspeaker.com • speaker@jwspeaker.com • 262.251.6660 6543910bRev: 05/23/2016

5. Align the lamp assembly, rubber damper (C) and 
the rock guard bracket (A), so that the rubber 
damper (C) is sandwiched between the lamp 
mounting bracket (B) and the rock guard bracket (A).

6. Route the Model 527 RED light power cord 
through the rock guard bracket access hole as 
shown.

7. Use the two M10-1.5x40mm carriage bolts (F), 
M10 lock washers (E) and M10 hex nuts (G) to 
mount the complete assembly to the vehicle.

8. Use the tie wrap (D) to secure the lamp power 
cord to the rock guard bracket (A).

3. Rotate the Model 527 RED light in the 
ratcheting plastic holders to the desired light 
output angle.

4. Tighten the two M8-1.25x24MM hex bolts 
with a wrench to lock the lamp into place.

A

B

C


